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PART I : PHYSICS

This section contains 10 Multiple Choice Questions (Q : 01 to Q : 10). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

1.

A strong magnetic field is applied on a

stationary electron. Then the electron will :

(A) Moveindirection of the field

(B) Remained stationary

(C) Moves perpendicular to direction of
magnetic field

(D) Moves opposite to the direction of the
magnetic field

Magnetic field lines

(A) Cannotintersect

(B) Arealways closed curve
(C) Can pass through vaccum
(D) All ofthe above

A charged particle is moving on circular path
with velocity V in auniform magnetic field B. If
the velocity of the charged particle is doubled
and strength of magnetic field is halved, then
radius increase.

(A) 8times

(B) 4times

(C) 2times

(D) 16times

xxxxx 10291023 ##xx*

1.

U ReR gelas = UR Uddl gaeb g &3 TRIMUT (b
STl © AT Soiderd

(A) Faaorg aF @ fa=m § T dxam |

(B) Rer <& |

(C) guaprg &3 @l fa=n & owrad T &R |

(D) e & o) foem & Fawdie T & |

ESEIRICEANCI

(A) ufies T8 o=l |
(B) @ea 9 9% H Bl 2 |
(C) fafa i T Bl 2|
(D) SwRYad a4

T AR PHU1 TRy g &5 BH a0V &
{1l ATHR U W T dR 21 7 | IS i oot
BT T SIYAT R QAT S 3IR b1y &3 B el
el BR & SR 1 e & w9 H g@iad) B |

(A) 877
(B) 4 7
(C) 277
(D) 16 7

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




MATRIX

Class-X (Shift-ll)

OLYMP!AD

A beam of light incident on a plane mirror forms
areal image onreflection. The incident beam is :
(A) Parallel

(B) Convergent

(C) Divergent

(D) Not certain

An object is placed at a distance of 40 cm in

front of a concave mirror of a focal length of 20

cm. The image produced is :

(A) Virtual and inverted

(B) Real and errect

(C) Real, inverted and large size as that of the
object

(D) Real, inverted and of the same size as that

of'the object

As light travels from a rarer to a denser
medium it will have

(A) Increased velocity

(B) Decreased velocity

(C) Decreased wave length

(D) Both (B)and (C)

xxxxx 10291023 ##xx*

AT TYUT TR AT YepTel Yol URTATT B IR
(e Uffew 9l 8 A1 Uehrer Yof 81T |

(A) iR

(B) sfierd

(C) oo

(D) sifvifae

T g @ B 20 cm B BIH R B ddd Ul
& T 40 cm 9 SO WR 3@ o1 8, o fAfa
ufafes gmm |

(A) STl 9 Iecl

(B) arxifaes g Hen

(C) arxfa®, Ieel 3R O H TS 3MBR B

(D) arxifa®, Ieel 3R 9] & A 3MDHR B

ST BTN IR A1eqq & Hed AledH H gae
PRI 8 T UPTE B

(A) I e

(B) & gem

(C) TRoeed s

(D) (B) o1 (C) i
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Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column -1 Column - 11

P. Mirror formula 1.m= -
u

Q. Lens formula 2.

R. Magnification 3.

Code :

P 0
(A2 3
B) 3 2
)3 1
D)2 1

wl\)'_"_'h

Which of the following statement/s is/are

True(T) or False(F) ?

(i) A 100 watt bulb has more resistance than
a200 W bulb.

(i) Fuse wire must have high resistance and

low melting point

(iii) Itisadvantageous to transmit electric
power at high voltage.

Code :
() () (iii)

(AT F F

BT T T

OCF F T

®)yF T F

xxxxx 10291023 ##xx*

oy v Biem—I 3R Sicm—II &1 fIa e
PR IYY fddhed Fade IR cIfoig—

Column -1 Column - 11

P. qu1 33

Q.7 g3 2.

R. 3mde= eman 3.

Code :

P
(A) 2
B) 3
© 3
(D) 2

r—Ar—Al\)U)'Q

R
1
1
2
3

feq v wa—sra el § 0 SR fdwed

REEIIEIC

(i) 100 are & ged &1 UfcR™g 200 dle & 9o9 A
3fferes il 8 |

(i) TS TR &1 UfcRIY S AT TeATiH B B
ey |

(iii) faga wIfed 1 S=a dieedl WR Yarzd &Rl
BRIGHT B |

Code :
() (i) (iii)

(A)T F F

)T T T

(OOF F T

MF T F
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Paragraph for Questions 09 & 10
Two or more resistances are conected in series

or in parallel or both, depending upon wheather
we want to increase or decrease the circuit
resistance.

Two or more resistance are said to be
connected in series if the current flowing through
each resistance is same. The equivalent
resistance in series combination is given by

R =R, +R, +R,

R, R, R,
A \
‘= !
+ V-

This is a wire of length 20 cm and having
resistance 20Q2 cut into 4 equal pieces and then
joined in series the equivalent resistance is :
(A) 20Q

(B) 4Q

(C) 5Q

(D) 10Q

Inthe given circuit, the current in each resistor is :
1Q 2Q 30

I

18V

(A) 3A
(B) 6A
(C) 9A
(D) 18A

xxxxx 10291023 ##xx*

10.

Paragraph for Questions 09 & 10

] A1 Q1 W e gfeRiel B waree SofiseH a1
FATR HA AT QA1 HH H A1 39 91 W) R
&l & fh g9 aRuy &1 Uiy A &= ared ©
1 31 HRAT AR B |

<1 77 31 ufeoRiy 1o o8 § BR afe 3= yarfad
&1RT BT A9 FA 81 | 2107 368 | o UfoR1g &l 9
7

R =R +R, +R,
R, R, R,

-

20 cm TS IR 20Q UfcRIg dTel e AR I
4 RIER TP H PIC Il & AR B 2o B4 d
SITST ST & A o UfoRig 8 |

(A) 20Q

(B) 4Q

(C) 5Q

(D) 10Q

o Ry gRuer § ye UfeRIg § &1RT 6T A1 811 —
10 20 3Q

I

18V

(A) 3A
(B) 6A
(C) 9A
(D) 18A
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PART II : CHEMISTRY

This section contains 10 Multiple Choice Questions (Q : 11 to Q : 20). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

11.

12.

13.

14.

AgNO,(aq) + NaCl(aq.) - AgCI(s) +
NaNO, (aq) above reaction is-

(A) Precipitation reaction

(B) Double displacement reaction

(C) Combination reaction
(D) Both(A)and (B)

When Cl, is passed over dry slaked lime, the
product formed s :

(A) CaCl,

(B) CaOCl,

(C) Ca0.CaCl,

(D) Mixture ofall these

In the following equation Na,CO, +nHCI —
2NaCl + CO, + H,0, The value of 'n'is

1
() 3
(B) 2

(C) 3
D) 4

Acetic acid is a weak acid because-
(A) Itsaqueous solution is acidic
(B) Itishighlyionised

(C) Itisweakly ionised

(D) It contains -COOH group

xxxxx 10291023 ##xx*

11.

12.

13.

14.

AgNO,(aq) + NaCl(aq.) - AgCI(s) +
NaNO, (aq) Sudad Afdfshar 8-

(A) sraemor rfafshar

(B) fgfazemos aifafeman

(C) S rfafepan

(D) (A) &R (B) &I

9 YH G g R FAR T garzd & S
g, 1 999 Tl SIS BIT—

(A) CaCl,

(B) CaOCl,

(C) Ca0.CaCl,

(D) SWrad a1 &1 s

FefoRaa sififbar 3 Na,CO, +nHCI —
2NaCl + CO, + H,0, 'n' &1 71 §-
(A) >
3
B) 2
€ 3
(D) 4

TRIfC® 7 T gddl 37 ©, Hifd
(A) SHD ST Ao areiT |
(B) I 987 Afdd MI-Igpd il & |
(C) I8 gda IMAfa 81F aTell & |
(D) 9% -COOH g 81 2|
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Iftartaric acid is not added in baking powder
the cake will taste bitter, due to the presence
of-

(A) Sodium hydrogen carbonate

(B) Sodium carbonate

(C) Carbondioxide

(D) None of'these

Copper on exposure to air react with moisture
and CO, to develop a green layer which is :
(A) Basic copper carbonate

(B) Copper sulphate

(C) Copper acetate

(D) Copper nitrate

Match Column — I with Column — IT and
select the correct answer using the codes

given below.

Column - 1T
P. Methane + Oxygen 1. Neutralisation

Column -1

— Carbon dioxide reaction
+ Water
Q. Magnesium + 2. Combustion
Copper oxide —> reaction
Copper + Magnesium
oxide

R. Hydrochloricacid 3. Oxidation
+ Sodium hydroxide  Reduction
— Sodium chloride

+ Water

xxxxx 10291023 ##xx*

15.

16.

17.

PH T AT IfHT USSR B A TERD
el A1 e &R o Ui & 999 & BRI
DHH H Bl WIS AT ¢ |

(A) ASTHA TZSIoM FBEFT

(B) wrfem Frafte

(C) B ST sifTss

(D) = & & BIg e

&1 o D DR (), T T CO, B e ifafshan
IR TP & I D R BT FH Bl & T8 T
(A) &R BIR FHEHE

(B) PR Fewe

(C) ®R Tilee

(D) PR rEge

37 77 Bicw-1 iR Bfaa—I1 &1 Sfd fem
PN UG fdbed gy IR SIfoTu—

Column -1 Column - IT
P. 799 + RIS 1. STRIFIGRIT
— BET SR arferfepar
JARATES + oI
Q.ARRH + dIR 2. <A AfHfha
JRITSS — DU
+ HFARRE s
R.EESIFARG 3 3. SIRABROT e+
+ HSTH BiggRIgS  STffha
ST FARSS
+ ST
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Code : Code :
P O R P O R
A2 3 1 A2 3 1
®)3 1 2 B)3 1 2
<3 2 1 )3 2 1
Md)y2 1 3 Md)y2 1 3
18.  Which of the following statement/s is/are 18. fU v y@—3M™ Al # 9 Sfud fddey

True(T) or False(F) ?

(i) Hydrochloric acid produces H,O"and CI
when dissolved in water.

(ii) Hydrochloric acid liberates carbon
monooxide gas when reacts with Sodium
carbonate.

(iii) Hydrochloric acid liberates hydrogen gas

when reacts with magnesium ribbon.

Code :

() () (iii)
AT F T
BT T T
CF F T
O)yF T F

xxxxx 10291023 ##xx*

EEEIRIG

(i) S ¥ = W EgsdReG 3 H,0*
3R Cl 373 < 2 |

(i) ATSTA PEFCT & A JWAHAT FA W
BIERIIAIRD 37, BT ST 3ffrgs 4
BRI Fvar 2 |

(iii) FFRRrM R & Ty FfAfhar &1 )
EESESINCAC IS ESIE R ERREINT
HAT B |

Code :
(i) (ii) (iii)

AT F T

B) T

©) F

(D) F

=

T
T
F
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Paragraph for Questions 19 & 20

Acids are the substances which give H" ions
and bases are the substances which give OH-
ions in aqueous solution. Indicators are sub-
stances which changes colour with acidic or
basic solution. Metals, metal carbonates and
metal hydrogen carbonates react with acids and
release either hydrogen or carbon dioxide gas.
Which of the following is not a base.

(A) Caustic potash

(B) Slaked lime

(C) Caustic soda

(D) Common salt

Which gas is evolved when acids react with
metal carbonates ?

(A) CO,

(B) H,

(C) NH,

(D) O,

xxxxx 10291023 ##xx*

19.

20.

Paragraph for Questions 19 & 20

3t d ugred B B Sl Sieid faee 7 H e
<d 8 1 &R 3§ ugred B Sl el fderae A
OH M <d &1 §9® d yarf 8 g ol
AT 9 @RI A=l & 12T 37T 7 gRafld
B B | ©1, G1d BIETE T U1 BSSIoT PEFT,
Al B A1 SMATHAT B BISSIoA AT HIEA
IT3 Jifargs 1 spIRa &-d B |

71 § | D1 aR T8 B

(A) FiRcH dreTer

(B) 9= 831 7T

(C) FRew drel

(D) W|ERY T

3, G PIEC b A SAABAT HRA W
SR T TSR FRaT © 2

(A) CO,

(B) H,

(C) NH,

(D) O,

Space for rough work
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PART III : BIOLOGY

This section contains 10 Multiple Choice Questions (Q : 21 to Q : 30). Each question has four choices

(A), (B), (C) and (D) out of which ONLY ONE is correct.

21.

22.

23.

24.

Which part of flower form fruit ?
(A) Anther

(B) Stigma

(C) Style

(D) Ovary

Complete pair of sex chromosome found in ?
(A) Maleonly

(B) Femaleonly

(C) InBothmale and female

(D) None of these

What is the role of cervix of the human female

system in reproduction ?

(A) Helpsinregulating the passage of sperms
into the uterus

(B) Forms the Birth canal to facilitates
parturition.

(C) Release androgen hormone

(D) Both(A)and (B)

Which of'the following givens rise to roots ?
(A) Embryo

(B) Plumule

(C) Cotyledon

(D) Radicle

xxxxx 10291023 ##xx*

21.

22.

23.

24,

% H HIF—AT IR Hel 9991 & 2
(A) WRTETHTI

(B) affem

(C) affar

(D) sieTery

T O @1 gl SrST 9 S B
(A) gou #

(B) =

(C) g=u 3R &1 &A1 A

(D) foefy 3 =7

LISCR KGR EC IR E R INCEIE I RIS Cal

T 7 ?

(A) TR | PP & AR BT Fafd a=e
H A HRAT B |

(B) U9d B G S=db a9 B foIg oA
AfeThT BT AT BT B

(C) TogoE gMiA &1 arfad dvell B |

(D) (A)3IR (B) <

1 5 | o &1 i wRar g ?
(A) 91

(B) 9rHR

(C) drsru=

(D) TATEHR
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"AIDS" stands for Acquired Immuno Deficiency
syndrome.

Methods of Prevention of AIDS are as follows :
(1) Using condom during copulation

(i) Avoiding sharing of needles

(i) Testing blood for AIDS before transfusion

(iv) Using Copper-T
Which one of the options given below is
not correct :

(A) O

B) @@

(C) (i)

D) @)

In the given transverse section of the leaf
identify the layer of cells where maximum

photosynthesis occurs.

(A) LI
B) IL 11
(C) 1L IV
D) LIV

xxxxx 10291023 ##xx*

25.

26.

"AIDS" stands for Acquired Immuno Deficiency

syndrome.

"AIDS" & Ford & fog {3+ T & Ahd 8

() < B ERE FeW B IT

(i) (needles) gs ATS B H 9

(i) 9T TS F U TSH & oIy Iad B
TRIETOT Rl

(iv) ®R "T" &1 TR
A fau Y fadedl 9 S T fadbed
TE TE B |

(A) O

B) @@

(C) (i)

D) Gv)

qul B IR PIC PI SR AT | TEAH
PITT 5T IR # SIfOBdH THTIRGTIT Bl
=

(A) LI
B) IL 11
(C) 1L IV
D) LIV
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Which of the following statement/s is/are 27. QU U @8 ®Hl H 9 3fud A

True(T) or False(F) ? EAT+TI—

(i) ATPisthe energy currency of the living (i) il 9§ ATP Sl &1 JaT 8l 2 |
organisms.

(ii) Secretion of pepsin enzyme that digests (i) UICH @1 A & Ufoad SISH BT AT
proteins. BT B |

(iii) Leafhas alarge surface area to absorb (iii) gof & < FAB! e MBI UBTET B
maximum light. TN BT T |

Code : Code :
() (ii) (iii) () (i) (iii)

AT F T AT F T

BT T T BT T T

C©F F T CF F T

D F T F D F T F

Match Column — I with Column — II and 28. ey 1y dfdd-I iR dfca-II &1 Ifa e

select the correct answer using the codes

given below.
Column -1 Column - 1T
P. Guard Cell 1. Nephron
Q. Filtration 2. Stomata
R. Alveoli 3. Site of gaseous
exchange

Code :

P QO R
A1 3 2
B3 1 2
<3 2 1
2 1 3

xxxxx 10291023 ##xx*

PR UG fdhed g IR QIfSTu—
Column -1 Column -I1
P. ER BRI 1.
Q. e 2. =
R.ag BI 3. ™91 BT 3MEH
—gaT
Code :
P O R
A1 3 2
B3 1 2
€3 2 1
2 1 3
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Paragraph for Questions 29 & 30

The embryo gets nutrition from the mother's
blood with the help of a special tissue called
placenta. This is a disc which is embedded in
the uterine wall. The embryo receives the
oxygen and nutrients from the mother's blood
through placenta. The waste materials
produced by the embryo are also cleared

away through placenta.

Placenta / 3raw1
Embryo / g0

The time period for the development of

embryo inside the mother's body is called.

(A) Gestation

(B) Ovulation

(C) Menarche

(D) Menopause

What changes are observed in the uterus, if

fertilisation does not occur ?

(A) Thelining of the uterus becomes more thick.

(B) Theliningofthe uterus becomes more spongy.

(C) The lining of the uterus slowly breaks and
come out through the vagina as blood and
mucus.

(D) The lining of the uterus becomes more

vascular.

xxxxx 10291023 ##xx*

29.

30.

Paragraph for Questions 29 & 30
YU AT & & W U] U I8N JHR & Hadb

H U FHRAT 2| T U™ dEd B T’ TS
3% SRAY AaT B, S e @ AT |
BT B | Y01 3TIRT & gRT A1 & Yo o SRt
q U9 YTl X1 & | YOT & IRR H g ared
3rafire gaTef STIRT EIRT dTeR’ Aol fad 9t ¥ |

Placenta / 3ru=1
Embryo / gor

AT & IRR H YUl & Qo™ & fog gwamafy

PHEAT o—

(A) THEHTA

(B) smsrca

(C) ISieeH

(D) gl

Ife v o i 21 81l ©, o1 e 3§ a1

gRad @ &1 fAed 8 ?

(A) e & IRa AT B e B |

(B) e &) URd 31fIH Tl & Sl 2|

(C) g @ wRa &R — &R e B 8k
I 3R T B w9 A AT F 9N
RETCIR

(D) T & WA AfdEH Fdg1 B oIl B |

Space for rough work
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PART IV : MATHEMATICS

This section contains 30 Multiple Choice Questions (Q : 31 to Q : 60). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

31.

32.

33.

The value of M is:
NCERV

(A) 2

B) 2

©) 4

D) 8

What is the co-efficient of x*y? in the expansion
of (x +y)*?

(A) 3

B) 4

© 5

D) 6

If m and n are zeros of polynomial

p(x) =ax?—5x + cand if m + n=mn = 10.

Find the value of aand c.

xxxxx 10291023 ##xx*

32.

33.

V32 ++/48 N
Bz TE

(A) 2
B) 2
(€) 4
D) 8

(x+y)'® R d x%y? &1 oI A1 5 ?

A) 3
B) 4
©) 5
D) 6
If& m 3R n, 9898 p(x)= ax’ — 5x + ¢ b YD

T m+n=mn=10%| a AR ¢ BT 99 Id
B |

Space for rough work
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36.

37.
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If o and B are the zeroes of the quadratic
polynomial f(t)=t>—4t+ 3, find the value of
B ralpt.

(A) 106

(B) 108

(©) 12

(D) 36

There are a total of 50 vehicles kept in the
parking, of which some are cars and remaining
are motorcycles. If total number of wheels is
160, what is the number of motorcycles in
parking ?

A) 12

B) 20

(©) 10

(D) 18

If 2x+3Y=17and 2x?—-3""'=5thenx +y="?
(A) 4
®B) 5
©) 7
D) 1

If the roots of (p — q)> x>+ 2(p> —g?) x + k=
0 are equal, thenk =?

(A) (p+q)?

B) (p—-q)7

©) p’-q

O 0

xxxxx 10291023 ##xx*

34.

3S.

36.

37.

o 3R B, fgard 9gus f(t) =t*— 4t + 3 & D
g a'f+a’pt B A S B

(A) 106
(B) 108
(C) 12
(D) 36

urfebT | gt S0 arei @l @ w1 g, o |
FG BR B MR AV Arewdrsived 2| afk g
ufedi @ wem 160 € a1 arfh § Arexarsiaba

P T AT B ?

(A) 12
B) 20
(C) 10
D) 18

e 25+ 3v=17 3R 2231 =5qq x +y="?
(A) 4
B 5
© 7
D) 1

e (p-q)? X2 +2(p*—qH) x +k=0 & 7
T 8, a9 k=72

(A) (p+q)

B) (p-q)?

©) p*-¢q

D) 0

Space for rough work
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41.
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Which of the following equations has no real 38. 1 9 | IFHI GHIGIUT & o IRATD
roots? T8 B ?
(A) x> —4x+342=0 (A) X —4x+3/2=0
(B) x*+4x-3v2=0 B) x’+4x-3v2=0
(C) x*—4x-3v2=0 (C) x*—4x-342=0
(D) 3x>+43x+4=0 (D) 3x>+43x+4=0
The 11" term of the A.P. -5, _75,0,%, ------- 39. R i -5, _75,0,; ------- P71 11 df 9g
is: &
A) -20 (A) —20
B) 20 B) 20
(©) -30 (C) -30
D) 30 D) 30
%
If 7 times the 7" term of an AP is equal to 11 % 40. IR v FER SO0 BT A IS B A A,
times its 11" term, then its 18 term will be : g S UREd U8 & RS T & IR 7, a9
> S9dT 18 df ug B—
(A) 7 g (A) 7
B) 11 ? B) 11
(C) 18 ¥ (C) 18
D) 0 D) 0
In aright angled triangle the hypotenuse is to be 41. TP FFH ST | B, MR | 1 | AR

1 cm longer than the base and 2 cm longer than
the altitude, then the perimeter of the triangle is :
(A) 24cm
(B) 20cm
(C) 12cm

(D) 10cm

g, IR o 9 2 I aw B, 9 B @
e 2
(A) 24cm
(B) 20cm
(C) 12cm

(D) 10cm

Space for rough work
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42, In figure, /ZBAC =90° and AD L BC. Then, 42, foa |, ZBAC =90° 3k AD 1 BC @§
A A
// e /,/ o
/ e / e
\\\\\ \-\\\
¢ | \\.'\\ / \\'\\
B [ fa B B L‘
(A) BD.CD=B(? (A) BD.CD=B(?
(B) AB.AC =B (B) AB.AC =B
(C) BD.CD=AD? (C) BD.CD=AD?
(D) AB.AC=AD’ (D) AB.AC=AD’
43.  Ifpoints P (~ 1, 1), Q (3, — 4), R(1, -1), 43. AR fig P (- 1. 1), Q (3. — 4), R(1, 1),
S(-2,-3) and T (— 4, 4) are plotted on the S(=2,-3), 3R T (-4, 4) % W E@ifhd g,
graph paper, then the point(s) in the fourth % 9 Tqel Tge 9 fig 5
quadrant are : ;,
N
(A) Pand T S (A) PaiR T
(B) Qand R § (B) QaRR
(C) OnlyS = (C) daat S
(D) PandR : (D) P3RR
X
X
44.  The point (11, 10) divides the line segment 44. I8l (5,-2) 3R (9, 6) BT Sire aTell ¥

joining the points (5, — 2) and (9, 6) in the
ratio :

(A) 1:3internally

(B) 1:3externally

(C) 3:1linternally

(D) 3:1externally

B, fig (11, 10) orgurd ¥ fwiad ®xar 8-

(A) 1:3amRs
B) 1:33=
(C) 3:1amRe
(D) 3:1sm=x

Space for rough work
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If sin A+ cosec A = a then the value of sin* A+ 45. 3¢ sinA+cosec A=a dd sin* A + cosec*A
cosec*A is- B A B—
(A) a*+4a’>+2 (A) a*+4a’>+2
B) a*-4a’+2 B) a*-4a*+2
(C) a*—4a>-2 (C) a*—4a>-2
D) a*+4a>-2 D) a*+4a>-2
If tan (A + 2B) = /3 and sin 2A +B) =1, 46. I tan(A+2B)=+/3 3R sin(2A+B)=1,
where A and B are acute angles, then correct &l AJIR B <A 7, d9 Hal fdded 3—
optionis :
(A) HCF of Aand Bis 10° (A) AR BH HCF10°% |
(B) HCF of Aand Bis 5° (B) AR B®& HCF5°%|
(C) LCM of A and B is 400° (C) AR B@& LCM400°% |
(D) LCM of Aand B is 80° (D) AR Ba&H LCM 80°T |
X
o z t o
If D is mid-point of BC then, <2 s ; i 47, IR D,BCH " fig g @g X g
coty® Q cot y®
=)
A o A
I
e
X X
y° Q y°
%
X
1 1
C D B C D B
A) 2 A) 2
1 1
®) 5 B 5
o+ o L
©) 3 ©) 3
1 1
D) 5 D) 5

Space for rough work
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50.
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1

The value of sin?0 + (1 1an’0) is: 48.  sin?0+ (tanie) 7 —

(A) sin’® (A) sin’0

(B) cos?0 B) cos?0

(C) sec®® (C) sec®®

O) 1 D) 1

The ratio of the length of a vertical rod and its 49. U IHER TS P N8 R BT BT AJU
shadow is 1 : 1. The angle of elevations of the 1:1 8 gJ & I BT 5—

Sunis:

(A) 30° (A) 30°

B) 45° B) 45°

(©) 60° (©) 60°

D) 90° D) 90°

The angles of elevation of the top of a tower 50. <fR @ IMUR ¥ 3R UH Il Y&l H 4m AR

from two points at a distance of 4 m and 9 m
from the base of the tower and in the same
straight line with it are complementary, then the
height of the tower is :

(A) 4m

(B) 6m

(C) 9m

(D) 12m

xxxxx 10291023 ##xx*

9m 1 g8 R Rerd a1 fdgali § <R & Rer
& I DIV TH TR D [ ©, d9 SR B
ST 8-

(A) 4 Hex
(B) 6 ¥R
(C) 9 Hrex
(D) 12 %

Space for rough work
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Match Column — I with Column - IT and
select the correct answer using the codes

given below.

Column - 1T
P. Onlyevenprime 1.2

Column -1

number is :

Q.Number whichis 2. 3
neither prime nor
composite is:

R.HCF of 12, 15, 3.1
21is:

Code :

P Q R

A2 1 3

@1 2 3

<3 2 1

1 3 2

Match Column — I with Column — IT and
select the correct answer using the codes

given below.

Column - 11
1. x24x+1

Column-1I
P. Polynomial whose
Zeroes are
2 -1
3 and? is
Q. Polynomial whose 2. 9x? -3x —2
zeroes are 3 and

—2is:

xxxxx 10291023 ##xx*

S1.

52.

fay 1Y Bfem-1 iR Sfem-11 &1 3o e
PN UG fdbed gy IR <IfoTu—

Column - 11

P. ®dc ¥H 319TY 1.2

Column -1

TR B
Q.8 T ST 9 2.3

al T B QIR
T8 AT -
R.12, 15,21 &1 3.1
79T B
Code :
P O R
A2 1 3
@)1 2 3
3 2 1
M1 3 2

fag 10 few-1 iR few-11 &1 3T e
PN UG fdbed gy IR SIfoTu—

Column -1IT
P. 9gue fo9s g=aie 1. x> —4x+1

Column -1
2 -1
3 3R 3 -

Q.9guc /s gaid 2. 9x> —3x —2
38R -2 8-

Space for rough work
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R. Polynomial whose

zeroes are 2+./3
and 2—./3 is
Code :

P O R
A1 2 3
B)3 2 1
©2 3 1
™2 1 3

3.x3-x—-6

Match Column — I with Column — II and

select the correct answer using the codes

given below.

Column -1

P. Solution ofax +
by = a—band
bx—ay=a+bis:

Q. Solution of x +y

= a+bandax—
by = a’—b?is:
R. Solution of
X +2y=5and
7x+3y=131is:
Code :

P Q R
A3 1 2
@1 2 3
o1 3 2
M3 2 1

Column —I1
l.x=a,y=b

2.x=1,y=2

3.x=1,y=-1

xxxxx 10291023 ##xx*

53.

R.9gue o1 s
TAD 243
3R 2-3 &

Code :

P QO R
A1 2 3
B)y3 2 1
<2 3 1
D2 1 3

Class-X (Shift-ll)

3.x3-x—-6

fau v difd¥—I 3R Bied—I1 &1 Sfad B

PN UG fdbed gy IR SIfoTu—

Column-1I

P. ax +by=a-b
3R bx —ay =
a+b &1 A o—

Q.x+y=a+b3iR
ax — by = a’— b’
BT B B—

R.x +2y=53iR
7x+3y=13 &1
Bl 8-

Code :

P

(A) 3

(B) 1

) 1

(D) 3

l\)wl\)»—nm
»—Al\.)UJl\)w

Column —I1
l.x=a,y=b

2.x=1,y=2

3.x=1,y=-1

Space for rough work
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Which of the following statement/s is/are 54. U U W wEl W 9 3fUd fadme

True(T) or False(F) ? EAT+TI—

(i) The number of real roots of the equation () FHERO (x— 1)+ (x-2)> +(x-3)>=0
(x—12+(x-2)2 +(x-3)*=0is 3. ® RIS el B F& 3 T |

(ii) Ifx>—(a+b)x+ab=0,then the value of (i) It x>~ (a+b)x+ab=0%, 99 (x—a)
(X —a)+ (x — b)is (a + b)? +(x—b)? BT A (a+ by

(iii) If the equations x>+ b x + ¢ = 0 and (i) I IMHON x2+ b x + ¢ =0 3R
x?+cx +b=0, (b #c) have acommon x>+ ¢ex+b=0 (b#c) B T oI IHIAS
root,thenb+c+1=0. TaA@b+c+l1=07%]|

Code : Code :
() (ii) (iii) () (i) (iii)

AF T T AF T T

B)F F T B)F F T

C©T T F C©T T F

T F T % T F T

Which of the following statement/s is/are § 55. fou U W Nl # 9 Sfud fawe

True(T) or False(F) ? § TEAT+Tu—

(i) The common difference of the A.P g 1 1-2q 1-4q

- (i) TR ol 27 2a 24

11214 : a2
20 24 2q is — x e 1 3|

(ii) The 4th term from the end of the
AP -11,-8,-5 ...... 49 is —40.

(iii) The sum offirst five multiple of 3 is 45.

Code :

(1) (i) (i)

(i) AR #oft —11, -8, -5 ... 49 BT I
[ A ug 40 B

(iii) 3 & v U™ OISl BT ANHA 45 2 |

Code :

(1) (i) (i)

(AVF T F (AYF T F
B)F F T B)F F T
()T T F ()T T F
M T F T M T F T

Space for rough work
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Which of the following statement/s is/are

True(T) or False(F) ?

(i) The distance of the point (3, 5) from
X —axis is 3 units.

(i) Point (-3, 5) lies in the fourth quadrant

(iii) The area of'the triangle, whose vertices

are (a,a), (a+ l,a+ 1)and (a+ 2, a), is

1 sq. units.
Code :

(1) (ii) (iii)
(AT F F
BT T T
CF F T
DO)F T F

Paragraph for Questions 57 & 58

Ayush walking from his house to office. Instead
of going to the office directly, he goes to a bank
first, from there to his daughter's school and then
reaches the office.

(Assume that all distances covered are in straight
lines). If the house is situated at (2,4), bank at
(5,8), school at (13, 14) and office at (13, 26)

and coordinates are in km.
PN B (13, 14)
ey Eu.
House
74\
ﬁ Office
(2,4 13, 26) ﬁl

xxxxx 10291023 ##xx*

56.

QU Ty A8 wHuHl | 9 3fud fAdme

REEIIEI

(i) fI5 (3,5) @ x-31eT 9 g 3 sHTS
2 |

(i) fo5 (-3,5) A Tguior 4 T |

(iii) S &1 eFmha 1 T a8 © foras o
(aa),(a+1l,a+1)3MR (a+2,a) B

Code :

() (i) (iii)
(A) T F F
BT T T
CF F T
D)yF T F

Paragraph for Questions 57 & 58

Y I R F BRI Tb Ugdl Il Io
IRAT B | 9B WY FATAT W B GO A
% SITAT 7, 981 | 319+ 91 & ey S ®
AR R FrRITerd ggaan 2 |

(@ fefSTg fob o o1 78w Rl el Y@
H g e == (2,4), 9% (5.8), faeme™ (13,
14) 3R BT (13,26) W Rerd § ok s
a7 2

T
, a (13, 14)
(5,8) iggy:@ Daughter's

Bank N school

Space for rough work
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57.  Find the distance between house and bank. 57. 9% R W & 9= B A G DI ?
(A) 10km (A) 10 fa.
B) 5km B) 5 fbd
(C) 12km (C) 12 fa.
(D) 9km (D) 9 A,
58.  Total distance covered by ayush to reach the 58. @RI ugeH & oY YN §RT T B T Bl
office: CRUE
(A) 10km (A) 10 f.
(B) 27km (B) 27 fa.
(C) 17km (C) 17 fo A
(D) 22km (D) 22 fb AL

Paragraph for Questions 59 & 60

Neelesh is having a garden near Bangalore. In
the garden, there are different types of trees and
flower plants. One day due to heavy rain and
storm one of the trees got broken as shown in
the figure. The height of the unbroken part is
15m and the broken part of the tree has fallen

at 20m away from the base of the tree.

%

15m

20m

xxxxx 10291023 ##xx*

Paragraph for Questions 59 & 60

AT BT TTAR B AoIeId U I3 8 | S
H fI~—f= R & Us 3R Hell arel 91 o
2| U 3T IR a1Rer 3R &N & HROT S
H TP U T T o b fory # e mn g |
S I SS gU 9 B Hars 15 HeR § AR
TTT BT 91T U & QTR ¥ 20 Wex R ART 2|

Space for rough work
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What is the hight of the full tree ? 59. WU B A AT ?
(A) 40m (A) 40 ¥R

(B) 50m (B) 50 #rex

(C) 35m (C) 35eR

(D) 30m (D) 30 ¥R

What is the perimeter of the formed triangle ? 60. Y &1 uR¥a @1 8 ?
(A) 60m (A) 60 Hiex

(B) 50m (B) 50 e

(C) 45m (C) 45 ¥R

(D) 100m (D) 100 #rex

xxxxx 10291023 ##xx*
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PART V : LOGICAL REASONING & 1Q

This section contains 10 Multiple Choice Questions (Q : 61 to Q : 70). Each question has four choices
(A), (B), (C) and (D) out of which ONLY ONE is correct.

61.

62.

63.

Find the missing term ?
62, 74, 80, 86, 95, ?, 158
(A) 120

(B) 113

(C) 125

(D) 136

Find the missing term ?
3,20, 63, 144,275, ?
(A) 554
(B) 548
(C) 468
(D) 354

In a row where all are facing North, Priya is
15" place from the left end and Garima is 19"
place from the right end. Ram is 24" place from
left in this row. If Priya and Garima interchange
their positions then priya's new position be-
comes S"place to the right of Ram. How many
people will there in the row ?

(A) 36

(B) 42

(C) 47

(D) 56

xxxxx 10291023 ##xx*

61.

62.

63.

TSI UG 1 DI ?
62, 74, 80, 86, 95, 2, 158
(A) 120

(B) 113

(C) 125

(D) 136

TSI UG 1 DI ?
3,20, 63, 144, 275, 2
(A) 554
(B) 548
(C) 468
(D) 354

Te Ufad 3§ T BT JE@ IR D AR B, O B
A TR AR ¥ 1591 2 | o1 TIRAT &1 H arl
AR A 19 df & | ¥ 39 ufed # 9t 3R | 24
J I W 2 | I O &R TIRAT 3o H %A
Il & a1 O 1 731 I M & ] | 5dt
g1 o1 2 | ufad § gt feda @t 2hre

(A) 36
B) 42
(C) 47
D) 56

Space for rough work
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65.

66.
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Seema walks 7m to the South-East from point 64. a5 'A'Q A gfeor—gd fen 9 7 # =erh B |
A. Then walks 14m to the west and then walks R 14 ¥ af¥e™ &7 3R Feldll § a1 i 7 1
7m to the North-West. Finally she walks 4m to IIR—U¥aH B 3R Fefcll © | 3fch: H a8 4 9 gd
the East and reached at point B. Find the dis- B AR Fefcl! & 1 fag B R ugedl 81 A 3R
tance between Aand B ? B & 9= X1 9 #Ri?
(A) 18m (A) 18
(B) 19m (B) 19+
(©) 92\/§m (©) 92\/57-?[
(D) 10m (D) 104
Suresh is at 20" place from left and Ramesh is 65. R B W AT AR A 20 I FoAT I Pl
at 18" place from rigth. If total 22 People in I T IR ¥ 18 a1 § | 3R Ufad # =t
row, how many people between Suresh and D [l F&T 22 B, AT IATT G AR Y B
Ramesh ? 9 fovae aafda g ?
(A) 13 : (A) 13
(B) 14 fo (B) 14
(C) 15 S (C) 15
(D) 17 o (D) 17

e
P, Q, R, S and T are sitting around a circular 9 66. P,Q,R,S3RTUS I A & IRI Ob 90
table and all are facing towards the centre. R is % g q1 A1 &1 99 dx B WG 2 | R, P & 3

to the immediate right of P and second to the
left of S. T is not between P and S, So who is
second to the left of R ?

A) Q

B) S

O T

(D) DatalInadequate

SR R TN S & 3P i IR A g 21 T,
PaSa =y Ei o8, A R & 90 A g
Eak

(A) Q

(B) S

(C) T

(D) I rer

Space for rough work
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In the question below consists of a question and
two statements numbered [ and II given below
it. You have to decide whether the data
provided in the statements are sufficient to
answer the question. Read both the statements
and give answer.

Question : How many total students are there

inthe class ?

Statement-I : Rita ranks 23™ from the top in

the class.

Statement-II : In the class, Anita ranks 17"

from the bottom and is five ranks above Rita.

(A) The data in statement-I alone is sufficient
to answer the question.

(B) The data in statement-II alone is sufficient
to answer the question.

(C) The data in statement-I and statement-II
together are sufficient to answer the
questions.

(D) The data in neither statement-I nor
statement-I1 are sufficient to answer the

questions.

xxxxx 10291023 ##xx*

67.

Hrr few g fFfiRad o 4, U ueH SR
w2 [ qor 11 g 77 7 | amg fofg #ifte &
BT A QY Y 3ffebs YT BT TR < B forg
T g A1 LT | I BUAT Bl UG IR I

IR < |

U : Fel H Ho fhan faeneff g ?

-1 : e e § N § 23d e W 2|

HUA-11 = Hef |, T I | 173 I W B

3R a1 | Ui WM FW B |

(A) dad HE-1 # QY Y sffhs U= &1 SR
<1 @ o wa g

(B) daat weE-11 # T Y sffs ue @
IR o & forg gafa 2|

(C) w1 qen wod 11 # Ry Y offes va
|1 FAAHR T B IR o & folg g
g |

(D) =1 a1 woF-1 3R 1 BeF-11 § f&ar
3ffhs 3 BT SR 4 & IV g B |

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




68.

69.

MATRIX

OLYMP/AD

In the question below consists of a question and 68. - fQy Ty f=ferRad ue #, ta U iR |

two statements numbered I and II given below B [ e 11 fov v 7 | oy foly S &

it. You have to decide whether the data AT ¥ AU U 3ffps UeH BT SR 9 B forv

provided in the statements are sufficient to I 8 A7 1 | SN BUA] Bl Ug IR I

answer the question. Read both the statements I G |

and give answer.

Question : What is 'food' written in a code e : 'food' BT HT 9N H w1 o SR ?

language ?

Statement-I : 'Always cat good food' is writen FHU=-1 : T 991 H 'Always cat good food' &1

as 'hana pata'in code language. 'ha na pa ta' ferem I 2 |

Statement-II : 'Enjoy eating good food' is HU=-11 : T 991 7 'Enjoy eating good food'

written as 'ni haja pa' in code language. I 'ni ha ja pa' forem ST 7 |

(A) The data in statement-I alone is sufficient (A) dad HIE-1 7 QU Y sifhs U BT I
to answer the question. <1 @ forg g g |

(B) The datain statement-Il alone is sufficient | B) dad HE-I1 # Ty Y 3ffee ue &1
to answer the question. % IR <1 & forg gata 2|

(C) The data in statement-I and statement-Il & (C) F¥=-I den w11 7 Ry U offes U
together are sufficient to answer the g 11 FTTdR U3 &1 IR o+ & folv gt
questions. S =

(D) The data in neither statement-I nor § (D) =1 a1 HF-1 IR 1 HE-11 ¥ &1 T
statement-I1 are sufficient to answer the i Afps YT BT SR o7 & foIv qafed B |
questions. [

If + stands for 'division', x stands for 'addition’, 69. I +H1 3 UMY, x P13 TS B, — BT 3

— stands for 'multiplication' and + stands for
'subtraction’, then which of the following
equations is correct ?

(A) 36 x6+7+2-6=21

B) 36 +6+8x5-3=45

(C) 36+6+3x5+8=24

(D) 36-6+3x5+8=74

O B SR + HT A HeEr B, @) FfoRaa
H{ DI A TR G B |

(A) 36x6+7+2-6=21
(B) 36+6+8x5-3=45
(C) 36 +6+3x5+8=24
(D) 36-6+3x5+8=74

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”




MATRIX Class-X (Shift-ll)
OLYMP/AD

70.  Read the following information carefully and an- 70. ETIRIT SM®RT &7 S9MYd® Ug IR U
swer the question : BT IR &
(i) Five friends P,Q, R, S and T travelled to () 9= f=FP,Q,R,SIART 7 ga5 A uRasd

five different cities of Chennai, Calcutta,
Delhi, Bangalore and Hyderabad by five
different modes of transport of Bus, Train,
Aeroplane, Car and Boat from Mumbai.

(i) The person who traveled to Delhi did not
travel by boat.

(i) R wentto Bangalore by car and Q went
to Calcutta by aeroplane.

(iv) Stravelled by boat whereas T travelled
by train.

(v) Mumbai is not connected by bus to Delhi

X
and Chennai. §
x
Which of the following combinationsof €3
. o
person and mode is not correct? S
(A) P—Bus S
-
(B) Q—Aeroplane 9
(C) T— Car :
(D) S— Boat

(i)

(iif)

(iv)

v)

@ UIg TN ARM! 99, oA, g3
ST, BR AR 1@ §RT UM 7T
TERIEIE DI AT B |

ora @faa 7 el @ a1 31, 394 14
H AT TG DT

R, BR A IS T 3R Q, TATS STl
A Bt T |

S S 9@ | I B Sedfd T 5 29 9 A1
Eall

Hag, faeell 3R o8 ¥ 99 §RI1 ST T8l
g |

Ifda IR A &1 EfaRad § 9 S
SRISEREI S

(A) P—a

B)

Q — Ba1g SiETsl

(C) T— @R
D) S—-m

Space for rough work

“Be passionate and bold. Always keep learning. You stop doing useful things if you dont’t learn. ”
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